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Mother's Arithmetic • Time & Work

1. P is 20% more efficient than Q. If Q alone can

finish a work in 10 days, then in how many

days P alone will finish the work?

P, Q Q

P

(A) 
1

8
3

(B) 8.5

(C) 9 (D) 12

2. To do a certain work, the ratio of the efficien-

cies of A and B is 7: 5. Working together, they

can complete the same work in 17
1

2
days. A

alone will complete 60% of the same work in:

 A   B

7: 5 

17
1

2
A 60%

(A) 16 days (B) 18 days

(C) 21 days (D) 15 days

3. A is 25% more efficient then B. A works for 'D'

days and completed 1/3 of work and left the

work and Remaining work is completed by B

in 'D + 12' day. In how many days A and B

together can complete the work ?

A, B 25 A D 

B, D + 12 

(A) 15 days (B) 
1

13
3

days

(C) 12 days (D) 
1

12
3

 days

4. P is four times as efficient as Q. P can com-

plete a work in 45 days less than Q. If both of

them work together, then in how many days

the work will be completed?

P Q P Q

45

(A) 10 (B) 12

(C) 15 (D) 30

5. A and B complete a piece of work in 20 days.

They both start working together and after 8

days, A got ill.Due to A's sickness, A's efficiency

fall down by 40% and thus the total work com-

pleted in 24 days. Then find in how many days

B alone can complete the remaining work af-

ter A got sick. ?

A B 20

8 A A

40

24 A B

(A) 31 days / (B) 34 days / 

(C) 20 days / (D) 32 days / 

6. A and B started a work and worked on alter-

nate days. If A starts the work first, the whole

work is complete in 33
2

3
 days, while if B starts

the work first, the whole work is now com-

pleted in 33
1

2
 days. Find the percentage of

efficiency of A with respect to B ?

A B 

A  33
2

3
 

B 

33
1

2
 B A 

(A) 33.33% (B) 50%

(C) 66.67% (D) 75%

Time & Work
(Type-6)
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7. A is 1.5 times efficient than B therefore takes

8 days less than B to complete a work. If A

and B work on alternate days and A works on

first day, then in how many days the work will

be completed ?

A, B 1.5 

B 8 A B 

A 

(A) 17 (B) 19

(C) 19.5 (D) 21

8. Two workers ‘A’ and ‘B’ working together com-

pleted a job in 5 days. Had ‘A’ worked twice

as efficiently as he actually did and ‘B’ worked

one-third as efficiently as the actually did, the

work would have completed in 3 days. In how

many days could ‘A’ alone complete the job?

A B 5 

A 

B 

3 A 

(CDS 2018(II))

(A) 
1

3
2

days (B) 
1

4
6

days

(C) 
1

5
2

days (D) 
1

6
4

days

9. The efficiencies of A, B and C are in the ratio 2

: 5 : 3. Working together, they can compete a

task in 9 days. In how many days will C alone

complete 40% of that task ?

A, B C 2 : 5 : 3

C 

40% 

         (12 June 2019 – Shift : III)

(A) 14 (B) 16

(C) 15 (D) 12

10. The ratio of efficiencies of A, B and C is 2 : 5 :

3. Working together, they can complete a work

in 27 days. B and C together can complete 4/9

th part of that work in:

A, B C 2 : 5 : 3

27 B C 

4/9

(A) 27 days/

(B) 15 days/

(C) 
1

17
7

 days/

(D) 24 days/

11. The ratio of the efficiencies of A, B, C is 7 : 5 :

4. Working togehter, they can finish a work in

35 days. A and B work together for 28 days.

The remaining work will be completed (in days)

by C alone.

A, B C 7 : 5 : 4 

35 A

B  28 C

                               (4 June 2018 – Shift : III)

(A) 56 (B) 63

(C) 49 (D) 60

12. A is 50% more efficient that B and C is 40%

less efficient than B. Working together, they

can complete a task in 20 days. In how many

days will C alone complete 30% of that task ?

B A 50% C B

40% 

C 30% 

(12 June 2019 – Shift : I)

(A) 31 (B) 33

(C) 35 (D) 29

13. A is as efficient as B and C together. Working

together A and B can complete a work in 36

days and C alone can complete it in 60 days.

A and C work together for 10 days. B alone

will complete the remaining work in :

A B C 

A B 36 C 

60 A C 10

B 

(A) 110 days/ (B) 88 days/

(C) 84 days/ (D) 90 days/

14. A and B alone can do a work in x and y days

respectively and C takes 2/3rd of total time

taken by B to complete same work. If B works

with half of it's efficiency, then A and B can Do

2
16

3
% less than that of total work in 11 days.
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If C works with half of it's efficiency, then B

and C can do
2

41
3

% less than that of total work

in 11/2 days. Find time taken by A to com-

plete total work.

A B x y 

C B 2/3

B

A B
2

16
3

%

C B C,

11/2
2

41
3

% 

A

(A) 33 days / (B) 22 days / 

(C) 44 days / (D) 11 days / 

15. A, B, C can do a work in 3 days. If A works with

60% efficiency and B with 40% efficiency they

take 8 days, where as if A works with 70% and

B with 20% efficiency they take 10 days. Find

in how many days C alone complete the work ?

A, B C 3 

A, 60% B, 40% 

8 A, 70% B, 20% 

10 C

(A) 15 days (B) 14 days

(C) 13 days (D) None of these

16. C is 20% more than efficient than A. A and B

together can complete the whole work in 16

days B and C can complete complete the whole

work in 15 days. In how many days A alone

can complete whole work in 15 days. In how

many days A alone can complete the whole

work?

C, A 20% A B 

16 B C 

15 A 

(A) 42 (B) 48

(C) 54 (D) 36

17. B is 20% more efficient then A. B start work

and do x day and after then B replace A. A

complete the remain work in (x + 8) days. Ra-

tio of copleted work by A and B is 3 : 2 respec-

tively. In how many days A and B together com-

plete the whole work?

B, A 20% B x 

B A A 

(x + 8) A B 

3 : 2 A B 

(A) 
11

13
17

 (B) 
7

12
11

 

(C) 
7

13
11

 (D) 
8

12
13

 

18. C is 50% more efficient than A. A and B to-

gether can finish a piece of work in 18 days. B

and C togeter can do it in 
1

13
2

 days. In how

many days A alone can finish the same piece

of work?

C, A 50% A  B 

18  B  C 
1

13
2

A 

(A) 27 (B) 33

(C) 18 (D) 25

19. Anu can complete a piece of work in 22 days,

Shyam is 60% more efficient than Anu. how

many days does shyam alone take to complete

the same piece of work?

60%

 (SSC CHSL - 2020)

(A) 
1

35
3

(B) 
3

13
4

(C) 
1

13
5

(D) 
2

36
3
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1. (A) P Q

Efficiency 120 100
6 5

time 5 6
6 unit 10 days

1 unit 
10

6
days

5 unit 
10

5
6

 =
50

6
 = 

1
8

3

2. (B)    A  :   B

    Eff.     7  :   5

   Total work   12 × 
35

2

 A' can do the work = 
12 35 60

7 2 100

x = 18 day

3. (B) ATQ,

A : B

efficiency 5 : 4

Let total work = x

So,

5D = 
x

3

 x = 15D ...(i)

and 4(D+12) = 
2x

3

By eq. (i)

4D + 48 = 10D

 D = 8 days

So, total work (x) = 120

So, T
(A+B)

 = 
120 40 1

13
5 4 3 3

 days

4. (B) P       :     Q
4x     :      x
4x – x = 45
x = 15
P      :       Q
60    :       15

P + Q = 
1 1 1 4

60 15 60
 = 12 days

5. (D) let efficiency of A is a
and efficiency of B is b
ATQ,

20(a + b) = 8(a + b) + 16
3a

b
5

 
12a

5
 = 4b   

a 5

b 3

So, required time = 
12 3 5

3
 = 32 days

6. (C) Let efficiency of A = x
and efficiency of B = y

in 
2

33
3

 days when A starts work than

T
A
 = 17 days

T
B
 = 

2
16

3
 days

and in 
1

33
2

 days when B starts the work

T
A

=
1

16
2

 days

T
B

= 17 days

 17x + 
50

3
y =

33

2
x + 17y


x y

2 3


x

y
=

2

3

Required % fraction=
2

3
× 100 = 66.67%

7. (B) A 1.5

B 1
(Let time taken by A = t)

(1.5)t = 1(t + 8)

 1.5t – t = 8

 0.5t = 8 t = 
80

5
= 16

 A – 16 – 3


  B – 24 – 2

time taken 
48

9
5



9 × 5 = 45 + extra

A's 1 day

Total time taken = 19 days

8. (D) Let total work = 1
For full work let A takes days = a

1 day work of A =
1

a

Similarly, B takes days b
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1 day work of B = 
1

b

5 days work of:

A + B = 5 
1 1

a b
 ................(i)

If A worked twice the original efficiency,

then 1 day of work of A = 
2

a

If B worked 
1

3
rd effectively, then 1 day work

of B = 
1

3b

3 days work both = 
2 1

3
a 3b

Acc. to the question,

1 1 2 1
5 3

a b a 3b

5 5 6 1

a b a b

9. (D) A B C

Effeciency 2 5 3

Total work = (9) ( 2 + 5 + 3) = 90

C
Time

 = 
90 40

100 3
 = 12

10. (B) Efficiency ratio is

A : B : C

2 : 5 : 3

Total work =27 (2 + 5 + 3) = 270

(B + C)
4/9

 = 

4
270

270 49

8 8 9
 = 15 days

11. (A)           A       B    C

Efficiency   7       5    4

T.W. = 35 (16) = 560

(A + B)
28

= 28 × 12 = 336

Remaining Work = 560 – 336 = 224

Time
C
 =

224

4
 = 56

12. (A) A B C

150 100 60

Effeciency 15 : 10 : 6

Total Work = 20 (15 +10 +6) = 620

C
Time

 = 
620 30

100 6
 = 31

13. (A) A B + C

1 1

5

3

A B 36
180

C 60

Eff. of A + B = 5

C = 3

 Eff. of B = 1

 Eff. of A = 4

(A + C)
10

 = 7 × 10 = 70

Remaining work by B = 
110

1
 = 110 days

14.(B) ATQ,

A

B

C

2y

2x

3x

x

y

2y

3

2xy

Given

2x
2y

2
× 11 = 

5

6
 × 2xy

 22y + 11x = 
5xy

3
...(i)

And

3x 11 7
2x

2 2 12
× 2xy

 
77x

4
 = xy

y = 
33

2
...(ii)

By eq. (i)

x = 22 days

So, Time required by A is 22 days

15.(D) ATQ,
Let efficiency of A = x

efficiency of B = y
efficiency of C = z

 8
60x 40y 70x 20y

10
100 100 100 100

 
x 6

y 11
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So, Total work = 8
60 6 11 40

100 100
 = 64

 x + y + z = 
64

3

 z = 
64

3
 – 6 – 11 = 

13

3

So, T
C
 = 

64

13
× 3 = 

192

13
 = 

10
14

13
 days

16. (B) A C

5 : 6

A + B B + C

16 days 15 days

SP = 15 : 16

by help of A and C speed

A B C

5 : 10 : 6

A = 
240

5
 = 48 days

17. (C) Done work by A = 
3

5

 Done work by B = 
2

5

 time taken by A to complete 1 work

= 
5 x 8

3

time taken by B to complete 1 work

= 
5x

2

B is 20% more eff. than A

 
5 x 8 5x 120

3 2 100


x 8 3x

3 5

9x = 5x + 40

4x = 40  10

Time taken by A = 
5 18

3
 = 30 days

Time taken by B = 25 days

One day work of A + B

=
1 1 5 6 11

30 25 150 150

 T = 
150 7

13
11 11

 days

18. (A) ATQ,

Time taken by A = 3x days

Time taken by C = 2x days

Now, (A + B)'s 1 day's work

= 
1

18

(B + C)'s 1 day's work = 
2

27

 (B + C – A – B)'s 1 day's work

= 
2 1

27 18

 (C – A)'s 1 day's work

= 
4 3 1

54 54


4 3 1

54 54


1 1 1

2x 3x 54


3 2 1

6x 54

6x = 54 x = 
54

6
 = 9

Time taken by A = 3x = 27 days

19. (B) Anu Shayam

10 16 efficiency

Total work = 10×22 = 220

Shyam = 
220 55 3

13
16 4 4


